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Revisions are shown in red.
Solution 506, p. 92:

Line 1 of the solution should read as follows:
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Revisions are shown in red.
Question 105, p. 11:
Line 2 should read as follows:

If the delivery of parts from Source Y is delayed by 3 days, the total completion delay
(days) will be most nearly:

(A)
(B)
(©)
(D)
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Question 111, p. 16:

Line 1 should read as follows:

A circular rod will be loaded in simple tension. The rod has a length of 10 in. and a diameter
of 3/8 in. Data for available materials are as follows:

Solution 105, p. 70:

The first paragraph should read as follows:

If Task C is delayed by 3 days, but Task C has 2 days of slack from initial critical path,
then ABCE becomes the new critical path, and the total completion delay will be 1 day.
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THE CORRECT ANSWER IS: (B)
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